BHBHOID HIHU

Tamil Nadu Teacher Eligibility Test - 2012
Original Question - PAPER-I MATHS.

SimralL  angelsoren IsisTalasr ouqb 14 1f. o UVLLGHS 5.8

oz DB FBBl GCaed DmwHs G GaFevey

A) .576 B) .657 C) m.756 D) e5.765
ST LSHDe SHBBene] = Tr+2r

:2—72><14-+2(14-)

=44+28=7216
O&Fovey=72x8 =eap.576 Ans:(A)

2. i@ a.5000 @ Yywibded 8% el oy aiBSB0 Mol
pFHwuns OCFNSHIBBTT. IHHmean aBLEID6TD ¢5.5800@m iouy

Qupgieury?
A) 3 B) 2 C) 4 D) 5
p— 1001 1=5800-500 = 5.800
Pxr
_100><800_2
5000x8
=2 Years Ans: (B)
3. 100 wrewisuisefar WHIGUmIBeT FIusf 40 oIRIBEI BAIHB LI LS.

ey 53 eaem wHiCuewt 83 eafHIm HOUBIHOTHD IHSHBUILI LI
Oaflu aubszml. Ffwumer wHIGCUmIsmNnsd OCosTeami® Fflwmer FrTay
A) 39.7 B) 37.9 C) 29.7 D) 27.9
Fa[HH6v = FITFF) X cT1601601 N B
Fnmz60 =40x100=4000
FfOFtunI’ L ga®ss0 =4000-83+53
=3970

3970

gflwrer Fymay) 100 =39.7 Ans: (A)
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4. 5 cewimefer FgnFfl 32. aIGCausmiseaflsy @eatens BHSLOCLITSHI
FgnFfulisd 4 GHMBHDTV HHBLUILILL  6T6RI.
A) 84 B) 42 C) 48 D) 24
FITF X 6TeRIRNBMBD = Fn([HFH6V
32x5=160 32-4=28
28x4=112
BHBUILIC L 61651 — 48 Ans: (C)
5. QOgsilusd ougouupsiten @ CoHTLLIHaT emaymer 30156 x2016 .
CamiLgmaps ams OCaeflipBsissd 1.516 BVSHBH0 @ Fymer
uTensd FULLBGHG 5.6 aizpd JOWHBILGIBH aolled  DIBH6T
Cwrdss GaFsva]
A) .495 B) .754 C) .854 D) e5.954
1.5 - 20 1.5 -
33
30+1.5+1.5=33
20+1.5+1.5=23
urenguiler LTLiLsne) =33%x23-30x20
=759-600
=159 g.6.
Gesvey=159x6 = 5.954 Ans : (D)
6. @ oajFTde OGUiuiasr 16s1 9% ealBumar aufl afsb alBuemer

oufl 5. 1170 craflsd DB BB allensv

A) @.10530 B) .12960 C) ».13000 D) e5.20000
9% —>emp.1170
100% —?

:M:100x130

— .13000 Ans:(C)
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7. gmapelet  SBCUTMSW aH < SUBHLW  SHmSulleat  aIuFled

UTHWTGD. USOMMBBH AWOBEHHS W SHOSWST ISTHIHI
grapelet  awWemSLICLITEL PDWLBISTS QMBS SHI 6IdTsd  ieuHerilet
SBEUTNSUI aILIG]

A) 42,84 B) 24,84 C) 40,80 D) 24,48

SHAUBTA OGHL BH6IT Ans: ()

8. waveufl @aIlour® LTSS HIUSBSINID 5.350 L PT  IIEHFVBH BV
6 gmbharndS OFNHd aubdTer. wWgalsd Seuer a5.32,865
GuBBTeT aT@NsL BMLHD ' 1Q aTHID

A) 6% B) 10% C) 15% D) 8%
Recurring Deposit Formula:

PN o nt ) e —6x12 = 72 wrsmiset —n =72
100 2%12

_72x73
2x12

roveufl CFaisFwu CQwrdss Garensd=350x72=25200
I, eu’1g =32865-25200=¢5.7665

665350, 72x73 . 7665x100x2x12

X X =
100 2x12 350x72x73
r=10%

Ans:(B)

9. 23/40+33%625-4%320=

A) 1632 B) 533 Q) 335 D) 334
2340 +33/625 -43/320

=23/8x5+33125x5 4364 x5
=2x2x35+3x5x35-4x4x35
=435+1535-1635

=3x35

Ans:(C)
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10. @ 2 mwemuist o Td wBELD o wymisefsr eldlsd 5:7. Cueud
S1pH1 B jeney 4400 5.0F.16. sifled isaHmeTUiST LTLD

A) 10cm B) 25cm C) 15cm D) 20cm
r : h
5 : 7
52 , 7«

2 menenuiet Hem eney, V =nr’h
2—72><(5ac)2><(7ac)=4-4-00

22x25a” xx = 4400

a’ = 4400 =8=2°
22x25
x=2
b, r=5x2=5%x2=10 G&.4f.
=&l * Ans:(A)
11. 21 cm LUbD DML ABCD 6T6uI3 D c
FHIHIHe Hipe L’ L ugguller LgLiLeney

A B

A) 140 cm? B) 256 cm® C) 252cm’ D) 272 cm?

e U’ L. uG@Fluller LyLiLene)
= IO DAMTALLEBISHOTAT LUTLILIG —FHITSHISGT LITLILIGN6|
=2 sulLmsefler LFlILene] — L&D X LIgbaHLD

21

=2rr’-21x21 r 7=10.5
=2x§><10.5><10.5—441
=693-441=252 cm?
Ans: (c)
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12. x=2+3 erafep a:z—izs&l NI |
@

A) 14 B) 8.3 Q) 43 D) 0

w:2+J§
(2+J§)2 =4+3+4J3=7+43

1 1 1 7-4./3

_— = X
x® 7+43 7+43 7-43
7-43 7-43 7-43

T 49-16x3 49-48 1

=7-43
-1 =7+4J§—(7—4J§)

2
X
=7+43-7+43

=813 Ans:(B)

2
a@x

13. O QLESEHDS DmLBwueiten GFTansvsy 61%&9.&5”. RM DBGFHBY

AUTHID HD (CBHTMeLEMUD BLDD 2% wenfl Grwyd aHHIHID
OCaTatdBzl. ey AMmFHBT MTHMBI @ Caimid
A) 25 &lS. B) 40 &b, C) 35a&lf. D) 20 &ls.

distance
time

2
13 185 15

,7 3 37
15

Speed =

=25 Ans:(A)
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14. 1, 2, 5, 6, 14, 24, 30, 120, __ eaeaip GaTLfal SHDHD siewt
A) 91 B) 55 C) 720 D) None
x3 x4 x5
/\/\/\

1, 2, 5 6, 14, 24, 30, 120, __
\/\_/\_/\_/

+4 +9 +16 +25
2° 3° 47 5%
30+25=55
Ans:(B)
15 i+Z; 5.3 ><Z &H@ GFLDLDTET
5 2\2 4)8 2 ..
6 5 11 1
1— — 2— 5—
A) 20 B) 20 ¢) 20 D) 20
4 7 (5 3\ 7
5 2 (2 4) 8
4 7 (20-6) 7
=—+—+| —— |[x—
5 2 8 8
4 7 (1 7 4 7 8 7
=—t—t| — [X—=—F —X—X—
5 2 8) 8 5 2 14 8
4,7 16435 51,11
5 4 20 20 20 Ans:(C)
16. 9 wsCxramsFar cpaip Coremmisealar @@mFw  Geuligser
FhHbGID Lieitarl LDpdsCHTem15H D600
A) a&BBIeIlL ewwid B) OFmiCasmi® emwowid
C) pOsCxsT B emwowid D) 2 eoulL enwowid
Ans: (D)
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17. r,r, @ o ImEsaTes OHTMIL @@ GMLLBIGS6T 2 LLBIOTS

CpTOWTMTL 6L MWWESEHHS @DoLCw 2 afem  HATLTOISHI

FIDIDTHGHI.
A) I+, B) 2r, C) 2r, D) r,-r,
L-rn
2 L 1BIOT&S =TI, T, Geuefi'mBIoTes =T, +T,

18. A, B, C eawiusuiser @m Cousmsvenw @wempGu 12, 15, 20 prlseflsd

wliuTyser. @ubepsumpd Cxibal @@ BreT Csusmev GFuipery. Liear B
olsva alhdpTy eiaflsd A, C @moumbd GFyba 1sapaien Gausnevenul

WIYHD THDGSID BT BV 615HHNI?

Ans : (D)

A) 8 B) 7 ¢ 9 D) 6
1 pmwer a [BITL_B6IT
[ ® °
(A+B+C) (A+CQC)

1(A+B+C)+«(A+C)=1

1 1 1
1] —+—+
(12 15 20) (12 20)

5+4+3 20+12
- |+ =1
60 240
2

p—\

4 240
Xx=—X—— =
5 2
ax =6 BT &6
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19. 9o siaussPear uriny 33.32 cm’ BEID BT PM® UDD 66y
8cm 2 wgib 5.6 cm eaeflsd WBOBIMH LISD N6

A) 119cm B) 3.9cm C) 89cm D) 59cm

FflasdbSe@1 UFLiLene], A= %x hx(a+b)

%x5.6x(8+b):33.32

S.b= 33.32x2 _ 33.32

5.6 2.8
8+b=11.9

b=11.9-8=3.9

Ans:(B)

20. 17,15,9,13,24,7,12,21,10,24 aaipB uyeteafl alauymsefar was®
wBBID GenLHensvwens HNIh SuBBIAT FITFH LSHIIL]

A) 21 B) 24 ) 19 D) 14

17,15,9,13,24,7,12,21,10, 24

24 w_Hid Wiy (PHB MHBHISTOTIHI

was® =24

gpisuflenagullsd sTaps

7, 9, 10, 12, 13, 15, 17, 21, 24, 24
e

13+15 28

MLHleN6v = 14
SoLD > 5
wa® BB GemLPBemeoullear Fyralf = 24;14
= 38 =19
2
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21. g Aear weaip Goronmseiar aldgmset 2:4:6 eafd B
Caremt ieNa) 6T

A) 30°,60°90° B) 20°,70°,90°
C) 40°60°,80° D) 26°,58°,96°
2 : 4 : 6 22 =2(15)=30°
2¢ , 4a , 6« 4x=4(15)=60°
22 +4x+6x=180° 62 = 6(15) =90°
122 =180°
m:@:15°
12

=30°,60°,90°
Ans: (A)

22. @ oeLH B0 Leiterfl A 60

oUW ILIHILD CaTHCHTH DE.

AB  anigPen  prewi  Gugub /\
/BAC=65" wjgmh ~BAE=58° ¢ ¥
ai@ipl  Simwujiorpl oL et  Giosd
2 gitem Leatenl C eawfsd ABC e
OS]

D A E

A) 180° B) 90° C) 57° D) 123°

Z/ACB=/BAE=58°
AABCe» ZA+/B+2C=180°
65° + /B+58° =180°
/B=180°-65°-58°
=57°

Ans:(C)
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23.

42cm  aweiten @ MLLHBeOBHEH 240° mwwsCaremid GaTemIL
m aLs Casrewnl ugdeow Gaully dAhDSH ST DL TRIBEN6T
POBOMDHBHI P FalDLITHBDME0 SMLHGSLD FnldLIT suemETLITLIL

A) 4624cm? B) 3696cm? C) 6369cm? D) 6639cm?

FalbLledr susnemuUTLIL] =TTl
(=l LgFe1 T1b =42 G&F.16.

o’ L Caremniugsular smmene] = gnlbLi@T DIQFHBBNT6)

27T 240° =27R
360°
42 240° —R(aibiir symb)
360° i
R= 42 x240
360
o aabUiler eusmemuylig =nrl = 27—2>< 420 x240x42
=22x24x7
=3696 &.Q&.[ﬁ. AI‘IS . (B)

24. 8 o amimer @m Coumevenw BHBTOMTaIBIEG 9 wewll Couyd Gsuemsv

Geuigr 28 priseflsd @iy, 946p Cousmevenws 12 oy ewismert
prGemmaipIbed 7 wanlChyn Goumev OGFUIHTE HBHEmeT BHTL Berile0
apigLiLy?

A) 20 B) 18 C) 28 D) 24

M, xd,xh, =M,xd,xh,
8x28x9=12xd,x7

8x28x%x9
d=——-—
12x7

=24 mBrL_seir Ans : (D)
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25. 100 gmmeaumafsv el Guflw wahin] 3.84 &.&. 1BBID DiauBSeT
ofFa 2.46 &.&. aafld DSl OFF B OS]

A) 138&.&. B) 3.38d&dé. () 2.38d&.8. D) 6.308.8.
afFa = 10s1Cuflw iy (L) -wssdlu wgdiy (S)

2.46=3.84-S
S=3.84-2.46
S-1.38 Ans:(A)
26. x-y=6, xy=4 aafed a’—¢’ & I
A) 272 B) -288 C) 248 D) 288
a’—y’ =(z-y) (2" +ay +y")
a’ —y’ =(z—¢)(a" +¢" +ay)
a’ +y* =(x—¢) +2ay
a’+g¢? =(6)’+2(4)=36+8=44
nat—y'  =6(44+4)=6x48 =288 Ans : (D)

27. a’-3a’-x+3 e@mB uspLs Cormeauisr @m sty (x+1)
oIofle0 DIHAT LOBB BT TERINBET
A) (z-1),(x=-3) B) (z-1),(x+2)
Q) (2+1),(x+3) D) (a+1),(x-3)
@aulour®m elewLwrs OQFuih LTTHSH|LD
a’-3a’-a+3
(A) (z-1),(=-3)
x—1=0
x=1g Nygful’® yYsfunbd eaubsmsd eflenLwim@Ld
a’-3a’-a+3
=1*-3(1)*-1+3=1-3-1+3=0
x—3=0
x=3

Ans: (A
a®-3a®—ax+3=3>-3(3)’-3+3=27-27-3+3=0 (A)
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28. @ cwideT 5:3 eIGB MlBBHH0 2 _sitener. ouBBlar Coupurh 18
siofle0  Di6AIGIGURTHAT

A) 42,57 B) 54,72 C) 45,27 D) 47,52
5 : 3 54=5x9=45
52 , 3« 3x=3x9=27
52-3x2=18
22=18
w:gzg Ans:(c)
2

29. 3a’bc, 5ab’c, 7abc® &1 15.Guman. (LCM) eisugi

A) 35a’bc? B) 105a’b*c?
C) 15a’b*c? D) 105abc
3a’bc
5ab’c
7abc?

5.5, sTewt 2 wibd Ibddmer s11pd CousmiLd
15.8.0 = 3x5x 7 xa’xb?xc?

Ans: (B
=105a’b*c? ns:(B)

30. 11 Guemmsmeaiat S Hmd alewev 10 GCuermtsmetan alBB alenevda@F
FIOD eTwnev @svmll FHaiBHLD

A) 10% B) 100% C) 11% D) 21%
Short Cut :
oS BSuIraFid <100
BB CUITHeT eTe5I6ewT g3
_ 11-10 <100
1
=157 100=10% Ans:(A)
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